~9%

*Hﬂéﬁ(ﬂ(\125)*%75‘1*3%[~7§~U§T BoXHRA (S &Uiﬂ'o

A g4 X EEHh | IR AR (RITEM fii4& ES
BHHN 5 RI% 5kg i kg | 1,150 i
HHN 8E EEdol 5kg = kg | 1,000 /M
BHHN 10 B4 5kg 5= kg 850 N
172 45/46 S 5kg 5 kg 700
7o 18/22/8 RI% 5kg i kg | 1,600
Y 8/10kg =F 1A 5 kg | 1,800 EiE
T 5/6kg == 1A e kg | 1,500 EiE
Y 6/7kg FE 1A i kg | 1,500 iR
Aow4gn 8kg A 1A i kg | 2,500 EE
rov45o Tkg 1]} 1A 8 kg | 2,200 EiE
houA 4kg =] 1A 78 kg | 2,000 )
hu# 5kg = I 1A i kg | 1,900 #
< B A 6/ EEdbn 5/5.5kg 8 kg | 2,500 # BEH
5 3/4kg RIG 1A 8 kg | 3,300 #
<4 2/3R ks 3kghd e kg | 2,900 EiE
i: g 102 FEE P P | 1,500
HELIR R 100g P P 550
ERZILAH 218 =i P P | 1,500
RAIVKRZILAH EE 300g P P | 1,100
L& 5B 1kg P kg | 1,400 7B i
NT45) 30/50g FE Tkg B fiL kg kg | 2,000
INIT) 60/80g FE 1kgBifi kg kg | 2,000
HryF B #9300g dtimE & kg | 1,900
HA3)LE 400/500g ZH & kg | 2,600
Em75 20/30g dtiEE & kg | 2,300
yJH 20/40g dtiEE & kg | 1,900
BEN/E 30/40g FE & ke | 2,000




